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Mom made me 2 hot dogs.

She also made a hot dog for my 
brother.

How many hot dogs did she 
make?

answer: ____________________

Name: 

Daily Word Problem

A-21

Show your work.



A triangle has 3 sides.

How many sides do 2 triangles 
have?

answer: ____________________

Name: 

Daily Word Problem

A-22

Show your work.
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I have 8 toy cars.

I give 4 toy cars to my friend.

How many toy cars do I have left?

answer: ____________________

Name: 

Daily Word Problem

A-23

Show your work.
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Dee reads a book. She reads up 
to page 7. Then she skips a page. 
Then she reads page 9. What 
page did she skip?

answer: ____________________

Name: 

Daily Word Problem

A-24

Show your work.
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Jett has 5 toy tops.

Liz has 3 toy tops.

How many more tops does  
Jett have than Liz?

answer: ____________________

Name: 

Daily Word Problem

A-25

Show your work.

Super Teacher Worksheets - www.superteacherworksheets.com



Super Teacher Worksheets - www.superteacherworksheets.com

Daily Word Problem

ANSWERSA-21 through A-25

Mom made me 2 hot dogs.

She also made a hot dog for my 
brother.

How many hot dogs did she 
make?

answer: ____________________

Show your work.

A triangle has 3 sides.

How many sides do 2 triangles 
have?

answer: ____________________

Show your work.

I have 8 toy cars.

I give 4 toy cars to my friend.

How many toy cars do I have left?

answer: ____________________

Show your work.

Dee reads a book. She reads up 
to page 7. Then she skips a page. 
Then she reads page 9. What 
page did she skip?

answer: ____________________

Show your work.

Jett has 5 toy tops.

Liz has 3 toy tops.

How many more tops does  
Jett have than Liz?

answer: ____________________

Show your work.

2 + 1 = 3

3 + 3 = 6

page 8 2 tops

6 sides 4 toy cars3 hot dogs

7,  8  , 9
5 -- 3 = 2

8 -- 4 = 4


